Easter Multiplication

Solve the following word problems.

In preparation for Easter, Mary bought 3 baskets.
Each basket contained 123 chocolate eggs. How
many chocolate eggs did Mary buy in total?

John is making Easter baskets. He puts 345 eggs in
each basket. If he makes 4 baskets, how many
eggs does he use in total?

Sarah is preparing for the Easter egg hunt. She
hides 567 eggs in each of 3 different areas. How
many eggs does she hide in total?

Olivia has 9 egg cartons, and she wants to paint
186 eggs on each carton. How many eggs will she
paint in total?

The chocolate factory produced 120 chocolate
bunnies per day for 6 days. How many chocolate
bunnies did the factory make?

Emily buys 3 Easter dresses. Each dress costs 145
dollars. How much does Emily spend in total?

A church organizes an Easter play. They sell 789
tickets for each of 6 shows. How many tickets do
they sell in total?

A candy store sells 455 Easter chocolates. If they
sell 7 times as many on Easter day, how many
chocolates do they sell in total?
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